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DI table Chart Questions for IBPS Clerk Pre, SBI Clerk Pre, LIC 

Assistant Pre and IBPS RRB Assistant Pre Exams. 
DI Table Chart No. 126 
 

Directions : Study the following table chart carefully and answer the questions given beside. 

Number of tourists who visit different cities by different modes of transport is given in the 
table. 

Cities 
Vehicles 

By Air Bike Train Bus Car 

Masoori 174 191 188 172 192 

Jaipur 182 187 166 178 180 

Delhi 148 181 194 163 156 

Udaipur 148 170 185 142 132 

Nasik 183 149 159 155 149 

Gwalior 174 142 163 158 168 

 
 
1. What is the percentage of tourists who went to Udaipur by Train as compared to the 

tourists who went to Delhi by Air? 

A. 125%  B. 150%  C. 100%  D. 145%  E. 130% 
 

2. What is the difference between the average numbers of tourists who travelled by Air 
and the average number of tourists who travelled by Bus? 

A. 6.28   B. 6.83   C. 6.80   D. 6.68   E. 6.78 
 

3. What is the respective ratio of the number of tourists went to Jaipur by car to the 
number of tourists who went to Nasik by bus? 

A. 35 : 32  B. 33 : 29  C. 36 : 31  D. 37 : 32  E. 32 : 27 
 

4. What is the difference between the total number of tourists who went to Masoori and 
Gwalior by all vehicles? 

A. 114   B. 120   C. 124   D. 112   E. 116 
 

5.  What is the average number of tourists who travelled by Bike? 

A. 150   B. 160   C. 145   D. 134   E. 170 
 
 



 

 

Correct Answers: 

1 2 3 4 5 

A B C D E 
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Answers : 

 
1.   Tourists who went to Udaipur by Train = 185 

 
Tourists who went to Delhi by Air = 148 
 

Reqd. % = 185 ×  
100 

 = 125% 
148 

 
Hence, Option A is the correct. 

 
 

2. Average number of tourists who went by Air 

=  
174  + 182 + 148 + 148 + 183 + 174 

6 
 

=  
1009 

6 
 
= 168.16 
 
Average number of tourists who went by Bus 
 

=  
172 + 178 + 163 + 142 + 155 + 158 

6 
 

=  
968 

6 
 

= 161.33 
 
Required difference = 168.16 – 161.33 = 6.83 
 
Hence, Option B is the correct. 

 
 

3. Tourists who went to Jaipur by car = 180 
  

Tourists who went to Nasik by bus = 155 
  
Required ratio = 36 : 31 
  
Hence, Option C is the correct. 
 
 



 

 

4. Tourists who went to Masoori by all vehicles = 174 + 191 + 188 + 172 + 192 = 917 
  

Tourists who went to Gwalior by all vehicles = 174 + 142 + 163 + 158 + 168 = 805 
  
Required difference = 917 – 805 = 112 
  
Hence, Option D is the correct. 
 
 

5. Tourists who travelled by Bike = 191 + 187 + 181 + 170 + 149 + 142 = 1020 
 

Reqd. average =  
1020 

 = 170 
6 

 
Hence, Option E is the correct. 
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